1ISO 6020/2

www. hydromat.hr SERIES A3 HYDRAULICS CYLINDERS

A

Clevis

L]

fe—— M ——

KK o | N8 Frnax Ordering
Rod Type etie) | Ao | g | © | M [Emin| g [Ros| code
12 [ A [oku10]| [M10x1,25] 10 [ 10| 25 | 60 | 23 | 30 | 20 | 0603025601
14 | B [oku12]| [mi12x1,25] 12 [ 12 25 | 60 | 23 | 30 | 20 | 0603032601
18 | D [OKU14| [ M14x1,5 | 12 |14 | 25| 60 | 23 | 30 | 20 | 0603025602
22| F |[oKu16| | Miex1,5 | 16 |16 | 30 | 70 | 28 | 40 | 25 | 0603032602
28 | H [OKU20]| [ M20x1,5 | 20 |20 | 35 | 90 | 33 | 45 | 30 | 0603040602
36 | L |OKU25| | M27x2 | 25 |25 42 [105| 40 | 55 | 35 | 0603050603
45 | M [oKu32| | M33x | 32 |32 50 [118| 50 | 65 | 40 | 0603063603
56 | P |OKU40| | Me2x2 | 40 |40 | 60 [135| 60 | 75 | 50 | 0603080603
70 | R [OKUus0| | M48x2 | 50 |50 | 70 [170| 75 | 90 | 60 | 0603100603
90 | T [oKue3| | Me4x3 | 63 |63 85 205 95 |120| 70 | 0603125603
110] v [okuso| | Meox3 | 80 |80 [110|275] 120160/ 100 0603160603
140 | z |oku100| [ M100x3 | 100 100|125 320 125|170 120 0603200603
Unless otherw ise specified, all dimensions are given in millimetres.
—
Self-aligning clevis . B
. . . !
with spherical bearing S
A ¢
| 7 .
|
° o |
| % |
KK [ P Ordering
Type (Metric) C | M|Emn [} Rimax (7] T code
12 | A | OKUZ10 | [ M10x1,25| 25 | 60 | 23 | 30 | 20 | 10 2™ | 9 = | 0603025604
14 | B | OKUZ12 | [M12x1,25| 25 | 60 | 23 | 30 | 20 | 12 1% | 10 3, | 0603032604
18 | D | OKUZ12 | | M14x15 | 25 | 60 | 23 | 30 | 20 | 12 1™ | 10 3, | 0603025605
22 | F | OKUZ16 | | M16x1,5 | 30 | 70 | 28 | 40 | 25 | 16 2 | 14 | 0603032605
28 | H | OKUZ20 | | M20x1,5 | 35 | 90 | 33 | 45 | 30 | 20 0°° | 16 3., | 0603040605
36 | L |OKUZ25 || M27x2 | 42 |105| 40 | 55| 35| 25 15°° | 20 L, | 0603050606
45 | M | OKUZ30 || M33x2 |50 (118 50 | 65 | 40 | 30 ™ | 22 0. | 0603063606
56 | P | OKUZ40 | | M42x2 | 60 135/ 60 | 75 | 50 | 40 3% | 28 1. | 0603080606
70 | R | OKUZ50 | | m48x2 | 70 [170| 75 | 90 | 60 | 50 5% | 35 1, | 0603100606
90 | T | OKUZ60 || Me4x3 | 85 |205| 95 |120| 70 | 60 ™ | 44 1. | 0603125606
110 | V | OKUZ80 | | M80x3 |110|275[120|160 100 | 80 2 | 55 2. | 0603160606
140 | Z |OKUZ100| | M100x3 |125|320 (125|170 120|100 2™ | 70 3, | 0603200606

Unless otherw ise specified, all dimensions are given in millimetres.

34 Copyright © Hydromat inZzenjering d.o.o. ISO 6020/2 - 02/2006-HR



